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BALANCING EQUATIONS

Complete and balance the following reactions. Give states of the
products.

3 Mg(s) + N2(g) ——> MgsNa(s)

2 Na(s) + Cly(g — > 2 NaCl(s)

4 Als) +3 O(g) — > 2 AlOs(s)

6 Ca(s) + Pss) —> 2 CasPa(s)
16 Ga(s) + 3 Sg(s) — > 8 GazSs(s)
CaCOs(s) ——> CaOfs) + COx(g)

Ca(ClOs)a(s) —— CaCla(s) + 3 Oa(g)

3 Ba(s) + 2 FeClz(aq) —> 3 BaClz(aq) +2 Fe(s)

2 Al(s) + 6 HCl(aq) —> 2 AlClz(aq) + 3 Hz(g)

2 Na(s) + 2 H2O() — > 2 NaOH(aq) + Hz(g)

Bry(l) + NaF(aqg) — > No Reaction

3 Clx(aq) + 2 Alls(aq) — > 2 AlCIz(aq) + 3 I2(aq)

Ag(s) + HCl(aq) — > No Reaction

Ca(s) + 2 HBr(aq) — > CaBrz(aq) + Hz(g)

CuSOs(aqg) + 2 KOH(aq) — > Cu(OH)z(s) + K2S04(aq)
Fe(OH)s(s) + 3 HNOs(aq) — > Fe(NOg)s(aq) + 3 H20(l)
NH4Br(aq) + K2SOs(aq) — > No Reaction

2 AgNOs(aq) + CaClz(aq) — > 2 AgCl(s) + Ca(NOs)z(aq)

HCl(aq) + KHCO3(aq) — > KCl(aq) + H20(l) + COx(g)



20.

21.

22.

23.

24.

25.

2 HCl(aq) + Sr(OH)2(aq) — > SrClz(aq) + 2 H20())
BaCls(aq) + Na2SOs(aq) — > BaSOus(s) + 2 NaCl(aq)
NasS(aq) + Ni(NOs)2(aq) — > NiS(s) + 2 NaNOs(aq)
2 CoHe(g) + 7 O2(g) — > 2 CO2(g) + 3 H20())

2 CsHis(l) + 25 Oa(g) — 16 COx(g) + 18 HyO(l)

3 FeClz(aq) + 2 K3PO4(aq) > Fe3(POa)2(s) + 6 KCl(aq)

Give the net-ionic equations for the reactions 9,10,15,16, and 18 to
22 from part A. The equation should properly balanced as for as
charges and atoms are concerned.

9) 2 Al(s) + 6 H(aq) —> 2 Al3*(aq) + 3 Ha(g)

10) 2 Na(s) + 2 H20() — > 2 Na*(aq) + 2 OH-(aq) + Ha(g)
15) Cu2*(aq) +2 OH-(aqg) — > Cu(OH)x(s)

16) H*(aq) + OH-(aq) — > H20()

18) Ag*(aq) + Cl(aq) — > AgCl(s)

19) H*(aq) + HCOs-(aq) — > H20(l) + COx(g)

20) H*(aq) + OH-(aq) — > H20(l)

21) Ba2*(aq) + SO42-(aq) — > BaSOa(s)

22) Ni2*(aq) + S2-(aq) — > NiS(s)



